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Question Id : 92090622368 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
inaugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoecracy go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Henece, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inclusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recogmized, as
much of human beings as they themselves put into associated effort for a specifie

purpose.”

Sub questions

Question Number : 1 Question Id : 92090622369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090688401. 1
92090688402. 2
92090688403. 3
92090688404. 4

Question Number : 2 Question Id : 92090622370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090688405. 1
92090688406. 2
92090688407. 3
92090688408. 4

Question Number : 3 Question Id : 92090622371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090688409. 1
92090688410. 2
92090688411. 3
92090688412. 4

Question Number : 4 Question Id : 92090622372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090688413. 1
92090688414. 2
92090688415. 3
92090688416. 4

Question Number : 5 Question Id : 92090622373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090688417. 1
92090688418. 2
92090688419. 3
92090688420. 4



Question Id : 92090622368 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
maugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoeraey go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Hence, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inelusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recognized. as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090622369 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090688401. 1
92090688402. 2
92090688403. 3
92090688404. 4

Question Number : 2 Question Id : 92090622370 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090688405. 1
92090688406. 2
92090688407. 3
92090688408. 4

Question Number : 3 Question Id : 92090622371 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090688409. 1
92090688410. 2
92090688411. 3
92090688412. 4

Question Number : 4 Question Id : 92090622372 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090688413. 1
92090688414. 2
92090688415. 3
92090688416. 4

Question Number : 5 Question Id : 92090622373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090688417. 1
92090688418. 2
92090688419. 3
92090688420. 4



Sub-Section Number : 2

Sub-Section Id : 920906716
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090622374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymaoic 2020.

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3) (Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020.
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090688421. 1
92090688422 2

92090688423. 3
92090688424. 4

Question Number : 6 Question Id : 92090622374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymoic 2020.

(1)  Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3)  Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020,
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090688421. 1
92090688422. 2

92090688423. 3
92090688424. 4



Question Number : 7 Question Id : 92090622375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090688425. 1
92090688426. 2
92090688427. 3
92090688428. 4

Question Number : 7 Question Id : 92090622375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090688425. 1
92090688426. 2
92090688427. 3
92090688428. 4

Question Number : 8 Question Id : 92090622376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of P, , R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

Q: subjects or voice that responds

R: is a dialogue of speaking

=: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090688429. 1
92090688430. 2
92090688431. 3
92090688432. 4

Question Number : 8 Question Id : 92090622376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of P, Q, R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: 1s a dialogue of speaking

5: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090688429. 1
92090688430. 2
92090688431. 3
92090688432. 4

Question Number : 9 Question Id : 92090622377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090688433. 1
92090688434. 2
92090688435. 3
92090688436. 4

Question Number : 9 Question Id : 92090622377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090688433. 1
92090688434. 2
92090688435. 3
92090688436. 4

Question Number : 10 Question Id : 92090622378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.
(1) Arushi is weak in Maths
(2) and do not understand the

(3)  calculations

(4)  though her mother explains her repeatedly.

Options :



92090688437. 1
92090688438. 2
92090688439. 3
92090688440. 4

Question Number : 10 Question Id : 92090622378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.

(1) Arushi is weak in Maths
(2) and do not understand the
(3)  calculations

(4)  though her mother explains her repeatedly.

Options :

92090688437. 1
92090688438. 2
92090688439. 3
92090688440. 4

Question Number : 11 Question Id : 92090622379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct combination of the member of “QUAD".

(A) India

(B) Vietman

(C) Japan

(D)  Austraha

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A, (B).(C), (D)
(2) (A, (D), (E), (F)
(3) (A (B), (E), (F)
(4) (A, (€), (D), (E)



Options :

92090688441. 1
92090688442. 2
92090688443. 3
92090688444. 4

Question Number : 11 Question Id : 92090622379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct combination of the member of “"QUAD".

(A) India

(By Vietman

(C) Japan

(D) Australia

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A). ([B). (C), (D)
(2) (A, (D), (E), (F)
(3) (). (B), (E), (F)
(4)  (A), (€), (D), (E)

Options :

92090688441. 1
92090688442. 2
92090688443. 3
92090688444. 4

Question Number : 12 Question Id : 92090622380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3) Tabla player (4) Esraj player
Options :

92090688445. 1



92090688446. 2
92090688447. 3
92090688448. 4

Question Number : 12 Question Id : 92090622380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor plaver
(3)  Tabla player (4) Esraj player
Options :

92090688445. 1
92090688446. 2
92090688447. 3
92090688448. 4

Question Number : 13 Question Id : 92090622381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n which Indian state Gangaur Festival 15 predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090688449. 1
92090688450. 2
92090688451. 3
92090688452. 4

Question Number : 13 Question Id : 92090622381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which Indian state Gangaur Festival is predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka

Options :



92090688449. 1
92090688450. 2
92090688451. 3
92090688452. 4

Question Number : 14 Question Id : 92090622382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090688453. 1
92090688454. 2
92090688455. 3
92090688456. 4

Question Number : 14 Question Id : 92090622382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090688453. 1
92090688454. 2
92090688455. 3
92090688456. 4

Question Number : 15 Question Id : 92090622383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3) Aam Aadmi Party (4) Apna Dal
Options :

92090688457. 1
92090688458. 2
92090688459. 3
92090688460. 4

Question Number : 15 Question Id : 92090622383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3 Aam Aadmi Party (4) Apna Dal
Options :

92090688457. 1
92090688458. 2
92090688459. 3
92090688460. 4

Question Number : 16 Question Id : 92090622384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row is 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090688461. 1
92090688462. 2
92090688463. 3



92090688464. 4

Question Number : 16 Question Id : 92090622384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row 1s 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090688461. 1
92090688462. 2
92090688463. 3
92090688464. 4

Question Number : 17 Question Id : 92090622385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B), (C), (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4)  (E), (A), (C). (B). (D)

Options :

92090688465. 1
92090688466. 2
92090688467. 3



92090688468. 4

Question Number : 17 Question Id : 92090622385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B). (C). (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4 (E), &), (C), (B). (D)

Options :

92090688465. 1
92090688466. 2
92090688467. 3
92090688468. 4

Question Number : 18 Question Id : 92090622386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who 15 in
the centre?

(1) Dinesh (2) Chandan
(3 Amit (1) Bipin
Options :

92090688469. 1



92090688470. 2
92090688471. 3
92090688472. 4

Question Number : 18 Question Id : 92090622386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan. Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
15 on the left end of the beach. Chandan 1s on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh (2) Chandan
(3) Armt (4) Bipin
Options :

92090688469. 1
92090688470. 2
92090688471. 3
92090688472. 4

Question Number : 19 Question Id : 92090622387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How 1s Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090688473. 1
92090688474. 2
92090688475. 3
92090688476. 4

Question Number : 19 Question Id : 92090622387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How is Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090688473. 1
92090688474. 2
92090688475. 3
92090688476. 4

Question Number : 20 Question Id : 92090622388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 _... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090688477. 1
92090688478. 2
92090688479. 3
92090688480. 4

Question Number : 20 Question Id : 92090622388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 .... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090688477 1
92090688478. 2
92090688479. 3
92090688480. 4



Question Number : 21 Question Id : 92090622389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:
2 I

(1) 165 % (2) 335 %

I

() 12— % (1) GGE %

1
2
Options :

92090688481.
92090688482.

92090688483.
92090688484.

AW O~

Question Number : 21 Question Id : 92090622389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 16% % (2) 33]; %

() 12— % (1) GG% %

x
2
Options :

92090688481.
92090688482.

92090688483.
92090688484.

N O R S R

Question Number : 22 Question Id : 92090622390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090688485. 1
92090688486. 2
92090688487 3
92090688488. 4

Question Number : 22 Question Id : 92090622390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090688485. 1
92090688486. 2
92090688487. 3
92090688488. 4

Question Number : 23 Question Id : 92090622391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090688489. 1
92090688490. 2
92090688491. 3



92090688492. 4

Question Number : 23 Question Id : 92090622391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090688489. 1
92090688490. 2
92090688491. 3
92090688492. 4

Question Number : 24 Question Id : 92090622392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090688493. 1
92090688494. 2
92090688495. 3
92090688496. 4

Question Number : 24 Question Id : 92090622392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090688493. 1



92090688494. 2
92090688495. 3
92090688496. 4

Question Number : 25 Question Id : 92090622393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List [ List I1
(A) Minimum number of student get grade A () 6
(B) Minimum number of student get grade B* (Iny 4
(C) Minimum number of student get grade B (It 3
(D) Minimum number of student get grade B (IVy 8

(Choose the correct answer from the options given below:

(1) (A)-D, B)-AV). (C)-11), (D)-(11T)
(2)  (A)-IV), B)-(1D), (C)-(I1I), (D)-(D)
(3)  (A)-UID), (B)-(D), (C)-(IV), (D)D)
(1)  (A)-ID, (B)-(ID). (C)-(D), (D)-(IV)

Options :

92090688497. 1
92090688498. 2
92090688499. 3
92090688500. 4

Question Number : 25 Question Id : 92090622393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List List I1
(A) Minimum number of student get grade A (I) 6
(B) Minimum number of student get grade B* (Iy 4
(C) Minimum number of student get grade B (Il 3
(D) Minimum number of student get grade B (IV) 8

Choose the correct answer from the options given helow:

(1) (Q)-D, (B)-(IV), (C)-(1I), (D)-(I1I)
(2)  (A)-IV), ([B)-(D). (C)-(I1I). (D)-(D)
(3) (A)-(ILT), (B)-(D). (C)-(IV), (D)-(11)
(4)  (A)-ID, (B)-(1D), (C)-(D), (D)-(IV)

Options :

92090688497. 1

92090688498. 2

92090688499. 3
92090688500. 4

Part B: Agricultural Science

Section Id : 920906444
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906717
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090622394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Soil Health Card Scheme was launched in which year?
(1) 2007 (2) 2014
(3) 2015 (4) 2020

Options :

92090688501.
92090688502.
92090688503.
92090688504.

B W N =

Question Number : 26 Question Id : 92090622394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g | HiE fhd a6 # wwe feea mn ar?

(1) 2007 (2)y 2014
(3 2015 (4) 2020
Options :

92090688501. 1
92090688502. 2
92090688503. 3
92090688504. 4

Question Number : 27 Question Id : 92090622395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pradhan Mantri Fasal Beema Yojana started in which yvear?

(1) 2016 (<) 2004
(3) 2017 (4) 2019

Options :

92090688505. 1
92090688506. 2
92090688507. 3
92090688508. 4

Question Number : 27 Question Id : 92090622395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR HEA 1] AT [HE 99 § AR g3 A7
(1) 20186 (2) 2004
(3) 2017 (4) 2019

Options :

92090688505. 1
92090688506. 2
92090688507. 3
92090688508. 4

Question Number : 28 Question Id : 92090622396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kisan Credit Card scheme was launched in which yvear?
(1) 1998 (2) 2000
(3) 189495 (4) 2005

Options :

92090688509.
92090688510.
92090688511.
92090688512.

AW N —

Question Number : 28 Question Id : 92090622396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e shfse IS F1eHT o8 99 H WHRT §aT o7

(1) 1998 (2) 2000
(3) 1996 (4) 2005

Options :

92090688509.
92090688510.
92090688511.
92090688512.

AW N =

Question Number : 29 Question Id : 92090622397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

National Initiative on Climate Resilient Agriculture (NICRA) started in which year?

(1) 2012 () 2010
{3) 2011 (4) 2014

Options :

92090688513. 1
92090688514. 2
92090688515. 3
92090688516. 4

Question Number : 29 Question Id : 92090622397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A9 sHEefea HiA Fomeae ifafoue witeheat (FHshT) e SRy g3m w@1?

(1) 2014 (2) 2010
(3) 2011 (4) 2014
Options :

92090688513. 1
92090688514. 2
92090688515. 3
92090688516. 4

Question Number : 30 Question Id : 92090622398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Year 2023 has been declared as International vear of millets by

(1) ICAR (2) ICMR
(3) WHO (4) UNO
Options :

92090688517. 1
92090688518. 2
92090688519. 3
92090688520. 4

Question Number : 30 Question Id : 92090622398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TH 2023 F e AT w1 ApE 99 s g wia R ma are

(1) 35410 3m. (2) 3E.Hiug A,
(3) oEegUE.A. (4) F.UA.30.
Options :

92090688517. 1
92090688518. 2
92090688519. 3
92090688520. 4

Question Number : 31 Question Id : 92090622399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following crop is used for flax and oil both?

(1) Ragi {2y Mustard
{(3) Bajra (4} Linseed
Options :

92090688521. 1
92090688522. 2
92090688523. 3
92090688524. 4

Question Number : 31 Question Id : 92090622399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafefas e § fovg a8 &1 13 v 30 oo & =9 9 for 9 27

(1) i (2) @
(3) =T (4) AT
Options :

92090688521. 1
92090688522. 2
92090688523. 3
92090688524. 4



Question Number : 32 Question Id : 92090622400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is generally used for reclamation of soil acidity?

(1) Gypsum (2) Lime
{3 Iron pyrites {4) Biofertilizers
Options :

92090688525. 1
92090688526. 2
92090688527. 3
92090688528. 4

Question Number : 32 Question Id : 92090622400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frferfiga & & foram = amr=m: el 3a1 % g9 &9 e s 27

(1 fawm (2) =
(3) A 9IEUse (4) SETRETEAE
Options :

92090688525. 1
92090688526. 2
92090688527. 3
92090688528. 4

Question Number : 33 Question Id : 92090622401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Water harvesting is defined as

(1)  Application of water at the time of harvesting
(2) Harvesting deep water from soil by pumping
(3) Unit of water applied to crop
(4)  Collection of excess run off from the rain
Options :
92090688529. 1
92090688530. 2



92090688531. 3
92090688532. 4

Question Number : 33 Question Id : 92090622401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(1) 215 & THF 5 & T4 FE7
(2) oY % 0 MRS 9T e |
(3) HOEAEIET &g THI % THE WA FAT |
(4) a9 9 % FfAfE 98 H1 GUE FA |
Options :
92090688529. 1
92090688530. 2

92090688531. 3
92090688532. 4

Question Number : 34 Question Id : 92090622402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Megasporogenesis occurs in

(1) Stigma (2) Style
{3 Filament (4) Owules
Options :

92090688533. 1
92090688534. 2
92090688535. 3
92090688536. 4

Question Number : 34 Question Id : 92090622402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HITEATUSH Y B 2 |

(1) femrd (2) =
(@) Feemic d (4) ieges |
Options :

92090688533. 1
92090688534. 2
92090688535. 3
92090688536. 4

Question Number : 35 Question Id : 92090622403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not acted as antitranspirants in the plants?

(1) COe 2y 0=
(3) Ahbscisic acid (4) Silicone oils
Options :

92090688537. 1
92090688538. 2
92090688539. 3
92090688540. 4

Question Number : 35 Question Id : 92090622403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f=fafas & & fras wam 9l § wigrameic & =9 4 98 BT 8 7

(1) CO: (2) 0.
(3) ufeuide e (1) faferria de
Options :

92090688537. 1
92090688538. 2
92090688539. 3
92090688540. 4

Question Number : 36 Question Id : 92090622404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A reaper is used for

(1) Harvesting (2) Harvesting and winnowing
(3) Harvesting and threshing (4) Threshing only
Options :

92090688541. 1
92090688542. 2
92090688543. 3
92090688544. 4

Question Number : 36 Question Id : 92090622404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T =1 9= Ty = 2 |

(1) e & (2) et 3R 3TEE B
(3)  hels W HEE (4) *Heel HSE B4
Options :

92090688541. 1
92090688542. 2
92090688543. 3
92090688544. 4

Question Number : 37 Question Id : 92090622405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not a measure of central tendency?

(1) Mean (2} Mode
(3) Median (1) Standard deviation
Options :

92090688545. 1
92090688546. 2
92090688547. 3
92090688548. 4

Question Number : 37 Question Id : 92090622405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ffafiad § i w1 Se 221 o 1 ol T8 87

(1) #F (2) #IE
(3) wfzma (4) vze sfum
Options :

92090688545. 1
92090688546. 2
92090688547. 3
92090688548. 4

Question Number : 38 Question Id : 92090622406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

King of Pippin is the variety of .....

(1) Papava (2} Plum
(3) Kiwi (4) Apple
Options :

92090688549. 1
92090688550. 2
92090688551. 3
92090688552. 4

Question Number : 38 Question Id : 92090622406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘fprr w7 fufia’ Freferfaa 6 feet g 27

(1) ot (2) @
(3) < (4) ==
Options :

92090688549. 1
92090688550. 2
92090688551. 3
92090688552. 4



Question Number : 39 Question Id : 92090622407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The grape variety “Sonaka” used for which purpose?

(1) Juice making (2) Table seeded
(3) Wine making (4) Raisin
Options :

92090688553. 1
92090688554. 2
92090688555. 3
92090688556. 4

Question Number : 39 Question Id : 92090622407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 1 et HT feefefea 8 fee v B W § o e 2

(1) " & (2) @EH & (FeER)
(3) aEd a9 W & (4) TepsTioS =9 &4
Options :

92090688553. 1
92090688554. 2
92090688555. 3
92090688556. 4

Question Number : 40 Question Id : 92090622408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tristeza virus is associated with ...

(1) Mango (2) Banana
(3) Citrus (4) Grape
Options :

92090688557 1
92090688558. 2
92090688559. 3
92090688560. 4



Question Number : 40 Question Id : 92090622408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feeean fawm Fefafaa & @ & |

() =™ (2) Her
(3) g (4) [
Options :

92090688557 1
92090688558. 2
92090688559. 3
92090688560. 4

Question Number : 41 Question Id : 92090622409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fanging is related to

(1) Cracking of buds (2} Deformed roots
(3 Fruit drop (4) Storage loss
Options :

92090688561. 1
92090688562. 2
92090688563. 3
92090688564. 4

Question Number : 41 Question Id : 92090622409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Wi Fefafea @ g=fE 2 |

(1) el & B (2) wel 72
(3) w1 (4) WUSHU THAH
Options :

92090688561. 1
92090688562. 2
92090688563. 3
92090688564. 4



Question Number : 42 Question Id : 92090622410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following spectrum range i= called photosynthetically active radiation?

(1) 400 — 700 nm {2y 700- 1000 nm
(3) 1000 — 1300 nm (4) 1300 — 1700 nm

Options :

92090688565. 1
92090688566. 2
92090688567. 3
92090688568. 4

Question Number : 42 Question Id : 92090622410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ffefigs § =9 o wagg 19 ‘W= gveian’ 84 AfET B 27

(1) 400 — 700 nm (2} 7T00— 1000 nm
(3) 1000 — 1300 nm (4) 1300- 1700 nm
Options :

92090688565. 1
92090688566. 2
92090688567. 3
92090688568. 4

Question Number : 43 Question Id : 92090622411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Site of protein synthesis in a cell is

(1) Endoplasmia (#) Mitochondria
{(3) Chloroplast {4} Ribosomes
Options :

92090688569. 1
92090688570. 2
92090688571. 3
92090688572. 4



Question Number : 43 Question Id : 92090622411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ifyrnT & form amr § wida =1 fomior 2 27

(1) Sz + 3=t (2) wrEerwi-gar 0
(3) FERrER H (4) TEEEE H
Options :

92090688569. 1
92090688570. 2
92090688571. 3
92090688572. 4

Question Number : 44 Question Id : 92090622412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not true for Mycorrhizae Fungi?

(1) Phosphate gatherer (2) Assosiated with plant roots
(3)  Obligate parasites {4) Nitrogen gatherer
Options :

92090688573. 1
92090688574. 2
92090688575. 3
92090688576. 4

Question Number : 44 Question Id : 92090622412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frmfefEs § S5 TEHnE $6 & T F99 T8 87

(1) Fhe TU8 T4 9t (2) UiHl % FE1 § e
(3) 39U wsiE (4) -TEEIEA HOE A G
Options :

92090688573. 1
92090688574. 2
92090688575. 3



92090688576. 4

Question Number : 45 Question Id : 92090622413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following seed is genetically most pure?

(1) Breader seed (2) Nucleus seed
(3) Foundation seed (4) Certified seed
Options :

92090688577. 1
92090688578. 2
92090688579. 3
92090688580. 4

Question Number : 45 Question Id : 92090622413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fefefaa § S & o9 3=y =9 & 994 7g 914 2 87

(1) W= i (2) =fterEE o=
(3) HIEIvEYH = (4) THIOEETS
Options :

92090688577. 1
92090688578. 2
92090688579. 3
92090688580. 4

Question Number : 46 Question Id : 92090622414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rhizobium plays important role in ...

(1) Potash fixation (2) Phosphorus fixation
(3) Iron fixation (4) Nitrogen fixation
Options :

92090688581. 1
92090688582 2



92090688583. 3
92090688584. 4

Question Number : 46 Question Id : 92090622414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEAIEEY & g&q $13 # |

(1)  diere |9us (2) HTEHETHE GUE
(3) i wuE (4) A TR
Options :

92090688581. 1
92090688582. 2
92090688583. 3
92090688584. 4

Question Number : 47 Question Id : 92090622415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In most minerals soils particle density varies within

(1) 1.87—2.20 (2) 2.325—-2.40
(3) 2.50-2.70 (4) 2Z.78—2.95
Options :

92090688585. 1
92090688586. 2
92090688587. 3
92090688588. 4

Question Number : 47 Question Id : 92090622415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hftrerrar @il o gt & Fo0 &1 59 &% == BT E

(1) 1.87-220 (2) 2.25-2.40

(3) 2.50—2.70 (4) 2.78—2.95
Options :

92090688585. 1
92090688586. 2



92090688587. 3
92090688588. 4

Question Number : 48 Question Id : 92090622416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What iz phosphorus content in DAP?

(1) 18% (2) 28%

(3) a8% (4) 46%
Options :
92090688589.
92090688590.

92090688591.
92090688592.

AW N~

Question Number : 48 Question Id : 92090622416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Su . d SoERE S g et 2 27

(1) 18% (2) 28%
() a8% (4) 46%
Options :

92090688589. 1
92090688590. 2
92090688591. 3
92090688592. 4

Question Number : 49 Question Id : 92090622417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Saline soils ocour mostly in

(1) Subtropical regions (2) Arid and semi-arid regions
(3)  Tropical regions (4) Hilly regions
Options :

92090688593. 1
92090688594. 2



92090688595. 3
92090688596. 4

Question Number : 49 Question Id : 92090622417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) wEgiyme &= | (2) Uiz 3R = vfE & g
(3) erfuser &= 4 (4) vETEl & §
Options :

92090688593. 1
92090688594. 2
92090688595. 3
92090688596. 4

Question Number : 50 Question Id : 92090622418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tospovirus is related to

(1) Okra (2} Garlic
(3) Onion (4) Chillies
Options :

92090688597. 1
92090688598. 2
92090688599. 3
92090688600. 4

Question Number : 50 Question Id : 92090622418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEEE =T |

(1) T (2) &g
(3) == (4) T
Options :

92090688597. 1



92090688598. 2
92090688599. 3
92090688600. 4

Question Number : 51 Question Id : 92090622419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FSSAI has been established under the Food Safety and Standards Act

(1) 2006 (2) 2008
(3) 2009 (4) 2011
Options :

92090688601. 1
92090688602. 2
92090688603. 3
92090688604. 4

Question Number : 51 Question Id : 92090622419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U%.UH.TH. 0. 3. &l 754 @Td & Ud He Uge - o J=aia a1 791 2 |

(1) 2006 (2) 2008
(3) 2009 (4) 2011

Options :

92090688601. 1
92090688602. 2
92090688603. 3
92090688604. 4

Question Number : 52 Question Id : 92090622420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Browning in cauliflower is due to deficiency of

(1) Nitrogen (2) Phosphorus
(3) Boron (4) Molybdenum
Options :

92090688605. 1



92090688606. 2
92090688607. 3
92090688608. 4

Question Number : 52 Question Id : 92090622420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T § A ATl GO o g v feeeh i 27

(1) A (2) HERTH
(3) =AW (4) wifeeem
Options :

92090688605. 1
92090688606. 2
92090688607. 3
92090688608. 4

Question Number : 53 Question Id : 92090622421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The milling and polishing of raw rice reduces riboflavin by

(1) 56% {(2) 65%
{3) 12% (4) T8%
Options :

92090688609. 1
92090688610. 2
92090688611. 3
92090688612. 4

Question Number : 53 Question Id : 92090622421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 i FeTs T AT o S TEardeiiod i 561 g2 W1 8 |
(1) 56% (2) 65%
(3 72% (4) 78%

Options :



92090688609. 1
92090688610. 2
92090688611. 3
92090688612. 4

Question Number : 54 Question Id : 92090622422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Polyembryony occurs in

(1) Papaya (2} Banana
(3 Guava {4) Mango
Options :

92090688613. 1
92090688614. 2
92090688615. 3
92090688616. 4

Question Number : 54 Question Id : 92090622422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEEGEIRIR

(1) o (2) e
(3) F9Ee (4) ™
Options :

92090688613. 1
92090688614. 2
92090688615. 3
92090688616. 4

Question Number : 55 Question Id : 92090622423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fully opened blossoms in apple may be killed at temperature below

(1) 0.6°C (2) —22°C
(3) —-1.0 °C (4) 0°C



Options :

92090688617. 1
92090688618. 2
92090688619. 3
92090688620. 4

Question Number : 55 Question Id : 92090622423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥% 1§ 7 e § fgd ™ F 5 A W T E
(1) 0.6 ° #HicwTH (2) — 2.2 °dfewam
(3) -1.0°dfcomg (4) 0 °afcazm
Options :

92090688617. 1
92090688618. 2
92090688619. 3
92090688620. 4

Question Number : 56 Question Id : 92090622424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nozzle is a part of

(1) Rotary duster (2) Cynogas pump
(3) Hand compression spraver (4) Rotary pump
Options :

92090688621. 1
92090688622. 2
92090688623. 3
92090688624. 4

Question Number : 56 Question Id : 92090622424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el Tepdert W/ 3 27

(1) el == (2) HEARE
(3) 7% UK T (4) Tref T
Options :

92090688621. 1
92090688622. 2
92090688623. 3
92090688624. 4

Question Number : 57 Question Id : 92090622425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The worker bee is

(1) Drone (2} Sterile male
{3) Sterile female (4) Queen
Options :

92090688625. 1
92090688626. 2
92090688627. 3
92090688628. 4

Question Number : 57 Question Id : 92090622425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

nyAfFEEl 4 4hs Al i

(1) 3H (2) U W

(3) T AW (4) T
Options :

92090688625. 1
92090688626. 2
92090688627 3
92090688628. 4

Question Number : 58 Question Id : 92090622426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The botanieal pesticide “Pyrethrum” is derived from

(1)  Nicotiania sp. (2) Mangifera sp.
(3) Tagetes sp. (4) Chrysanthemum sp.
Options :

92090688629. 1
92090688630. 2
92090688631. 3
92090688632. 4

Question Number : 58 Question Id : 92090622426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR shieATE arEfiys’ o o o s 2

(1) FHeifegmT &, (2) F~a1%T &,

(3) 27eq o (1) FEImE @,
Options :

92090688629. 1
92090688630. 2
92090688631. 3
92090688632. 4

Question Number : 59 Question Id : 92090622427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following is an example of high volume spraver

(1) ULV applicator {2) Foot sprayer
(3) Hand spraver {4) Battery operated sprayer
Options :

92090688633. 1
92090688634. 2
92090688635. 3
92090688636. 4



Question Number : 59 Question Id : 92090622427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

famfefaa 9 3=9 smaas 9 =g e

(1) F.ua . e (2) o arfem =
(3) BTy = SR (4) = =ifea T
Options :

92090688633. 1
92090688634. 2
92090688635. 3
92090688636. 4

Question Number : 60 Question Id : 92090622428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first transgenic crop approved for cultivation was

(1) Tomato (2) Brinjal
(3) Potato (4) Okra
Options :

92090688637. 1
92090688638. 2
92090688639. 3
92090688640. 4

Question Number : 60 Question Id : 92090622428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ITTEA B WYH ZESAHS HEae %1 TTAA1 /T i T |
(1) e (2) =

(3) 3w (4) Tvs

Options :

92090688637. 1
92090688638. 2
92090688639. 3
92090688640. 4



Question Number : 61 Question Id : 92090622429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Downey mildew of Bajra is caused by

(1) Selerospora sorghi (2) Sclerospora sacchari
(3)  Sclerospora graminicola (4) Prenospora parasitica
Options :

92090688641. 1
92090688642. 2
92090688643. 3
92090688644. 4

Question Number : 61 Question Id : 92090622429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AL H B 916 BIE Wesg F 1 2l

(1)  TeremnT arar (2) THETRT TFH
(3)  THOTIRT FlHT (4) FETRT FERE
Options :

92090688641. 1
92090688642. 2
92090688643. 3
92090688644. 4

Question Number : 62 Question Id : 92090622430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Karnal bunt of wheat is caused by

(1) Nevossia indica (2) Tilletia horrinda
{3) Urocystis tritic (4) Ustilogo tritici
Options :

92090688645. 1
92090688646. 2
92090688647. 3
92090688648. 4



Question Number : 62 Question Id : 92090622430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR H B AT AT 92 H] B 8 |

(1)  FHaiaar sfeesr (2) Roifiar gifivs
(3) gl flRarE (4) FEarn iears
Options :

92090688645. 1
92090688646. 2
92090688647. 3
92090688648. 4

Question Number : 63 Question Id : 92090622431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Panama wilt 15 associated with

(1) Bamboo (2) Mango
(3 Pineapple {(4) Banana
Options :

92090688649. 1
92090688650. 2
92090688651. 3
92090688652. 4

Question Number : 63 Question Id : 92090622431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T faee e 2

(1) =g (2) M

(3 3= (4) FeW
Options :

92090688649. 1
92090688650. 2
92090688651. 3



92090688652. 4

Question Number : 64 Question Id : 92090622432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Apical dominance is primarily due to

(1) Auxin (2} CGibberellin
(3)  Cytokinin (4) Ethylene
Options :

92090688653. 1
92090688654. 2
92090688655. 3
92090688656. 4

Question Number : 64 Question Id : 92090622432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufushet S5 g = S0 FT # |
(1) it (2) fomifem
(3) aEEEEHEE (4) e
Options :

92090688653. 1
92090688654. 2
92090688655. 3
92090688656. 4

Question Number : 65 Question Id : 92090622433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VAM 12 associated with

(1) Bacteria (2) Fungi
(3) Virus (4) Algae
Options :

92090688657. 1
92090688658. 2
92090688659. 3



92090688660. 4

Question Number : 65 Question Id : 92090622433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.0, 0q, grgfad 2 |

(1) SiramH | (2) wa® d

(3) faumpa = (4) I=AH
Options :

92090688657 1
92090688658. 2
92090688659. 3
92090688660. 4

Question Number : 66 Question Id : 92090622434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Pungency and red colour found in chilli.

Reasons (R): Capsaicin and capsanthin pigment are responsible for the above
characteristics in challi.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) {A) 18 correct but (R) 1= not correct

(4) {A) 1s not correct but (R) 18 correct

Options :

92090688661. 1
92090688662. 2
92090688663. 3
92090688664. 4

Question Number : 66 Question Id : 92090622434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

+= 21 wud fou o E : uw AfueeE (Assertion A) % ®9 ¥ fafiga & 9 gEu 39 Fww
(Reason R) &% 9 7 :

Afgwe (A) . o= 7 diEme 33 e o1 9 9 2
FAm (R) et #i Sudidiy tosh I S99 & Iauer 26 8 |

ITRF HY & AT §, A G 70 f9hedi § § H99 I0F I H 95 hi0

(1) (A) 3 (R) a1 78 8 31 (R). (A) 1 = =T & |

(2)  (A) 3 (R) g1 wEl &, offd (R), (A) i 92 = 74 & |
(3) (A) w8, sifeA (R) &8 781 2

(4)  (A) wé =E 2, w1l (R) wE 21

Options :

92090688661. 1
92090688662. 2
92090688663. 3
92090688664. 4

Question Number : 67 Question Id : 92090622435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I  Mutation 15 sudden heritable change in characteristics of an
organism.

Statement I1 : Mutations is very common in release of new flower varities.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statment I and Statement Il are true
(2) Both Statment I and Statement II are false
(3) Statment I is true and Statement II is false

(1) Statment [ is false and Statement 11 is true

Options :
92090688665. 1



92090688666. 2
92090688667. 3
92090688668. 4

Question Number : 67 Question Id : 92090622435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 21w fer U E ¢ v wfEeA (Assertion A) % w4 H fafiga 2 9 gow 9% FEw
(Reason R)F &9 7 :

Ay (A) . Tt Sfim & safos @i § ves g9 9 giEdd #1 IEiEd
Fed £ |
FA (R) : ST Bl | 7% SAITaal [aehied & 4 957 9EEF ¢ |

IV YA IS °, A TG T fawmedi § § w99 39gE I H F5 i

(1) (A) 3R (R) S @81 & 31 (R), (A) F1 ¥E = 2 |

(2) (A) 3 (R) TF FE E, T (R), (A) 1 T = 16 2
(3) (A) @i &, v (R) ®El 781 |

(1) (A)HE 7 2, @i (R) w81 2|

Options :

92090688665. 1
92090688666. 2
92090688667. 3
92090688668. 4

Question Number : 68 Question Id : 92090622436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R) :
Assertion (A) : (Guava is considered most suitable fruit for jelly making because
guava is rich in pectin content.

Reasons (R) :  Pectin is one of the essential components for jelly making.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R} is NOT the correct explanation of (A)
(3) {A) 18 correct but (R) 1= not correct
(4) {A) 18 not correct but (R) is correct
Options :
92090688669. 1
92090688670. 2

92090688671. 3
92090688672. 4

Question Number : 68 Question Id : 92090622436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A g1 e T U E : us #iUeeH (Assertion A) % ®9 H foifiga 2 a9 g0 39 FEw
(Reason R) & &9 7 :

AP (A) :  FAUSE HI SAell aW &g AYERT HET AT E FEih ATEG H Ufdes bl WA
3t B 2 |

F (R) UfFed Seft &9 &g AETES 9T 2
ITRE H2H % el O, Hra fu e fawedi O # Ha8 I9gE 3 6 994 i

(1)  (A) 3 (R) g1 &8l & 31 (R), (A) i @& =0 & |

(2) (A) 3 (R) 21 @@l 8, @i (R), (A) =1 wél =me 721 2 |
(3) (A) @l 2, wifehd (R) ®E1 781 & |

(1) (A) W& 7E 2, @ (R) w8 2

Options :
92090688669. 1



92090688670. 2
92090688671. 3
92090688672. 4

Question Number : 69 Question Id : 92090622437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given helow are two statementz : One is labelled as Assertion (A) and the other is

labelled as Reason (R) ;

Assertion (A) : Peach and Nectarine requires heavy and regular pruning than apple
and pear.

Reasons (R) : Peach and Nectarine bears fruits only on the current season shoot.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (B) 15 the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{3) {A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090688673. 1
92090688674. 2
92090688675. 3
92090688676. 4

Question Number : 69 Question Id : 92090622437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= 21 FuA for U E : v wfUee (Assertion A) % =9 § fafigd 2 91 g0 35E FA0
(Reason R) &% &9 4 :

YA (A) ;31T 3R AT | F9 iR AT i qe 5 S 3T AR werE-wers
61 IATEvEHaT &l 2 |

F0 (R) : Mg 3R AFH °§ ®e W6 7E I W A E |
YRR FYA o A H, A1 G0 70 el § ¥ TEE I9gF I 61 984 I

(1)  (A) 3T (R) aHT ®El & 3R (R), (A) i w1 =men 2 |

(2)  (A) 3 (R) SHT @@t &, Sife (R), (A) =1 @t samen =& 2 |
(3) (A)@E B, oiferT (R) @&l 71 B |

(4) (A wéi FE #, wifehT (R) wEl 81

Options :

92090688673. 1
92090688674. 2
92090688675. 3
92090688676. 4

Question Number : 70 Question Id : 92090622438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other 1s
labelled as Reazon (R) ;

Assertion (A): Tetrazolium test imparts red colouration on the viable cells in seed
viability test.

Eeasons (R) : Dehydrogenase enzyme used for red colour formazon.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R} is NOT the correct explanation of (A)
(3 (A) is correct but (R) 1= not correct

{4) {A) i1s not correct but (R) is correct

Options :
92090688677. 1



92090688678. 2
92090688679. 3
92090688680. 4

Question Number : 70 Question Id : 92090622438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fra 21 e fgr o 2 ;v wfeeH (Assertion A) % w0 fafiga 2 91 g@u 3@%
(Reason R) & &9 ¥ :

AYFYT (A): o1 o 7T FHAI I Ad § AIeTI S R SHiad IR § @
T AR

HA0 (R) : Tl T B o 2q gegifas weneg &1 9F g 2 |

I HYA & AT °, I fqu v faswedl § 8 ga" 3ugea 39 #1994 Sl

() (A) 3 (R) FF 78 & 311 (), (A) 1 78 =we 2 |

(2) (A) 3 (R) =H 52 &, S (R), (A) it = =men 78 2|
(3)  (A)wEt 8, il (R) wél 781 |

(1) (A) wé 78 &, @ (R) & 21

Options :

92090688677 1
92090688678. 2
92090688679. 3
92090688680. 4

Question Number : 71 Question Id : 92090622439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Law of diminishing return also regarded as a law of life itself.

Statement IT: This law helps in determination of optimum input to use and
optimum output to produce.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statment 1 and Statement 11 are true
(2) Both Statment I and Statement 11 are false
{(3) Statment I 18 true and Statement 11 1= false
(4) Statment I is false and Statement I1 1s true

Options :

92090688681. 1

92090688682. 2

92090688683. 3
92090688684. 4

Question Number : 71 Question Id : 92090622439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬂ%amﬁt{wﬁ:ﬁmﬁw{Asﬁertionﬁ}%ﬁﬁﬁf@ﬁ%ﬁwmm
(ReamnR)%FE':Fﬁ:

AT (A) - & 31w feffafm fed =1 =7 3% s% o F8 3 2|

F=E (R) : 77 Taq Team faw 310 geag 30 & Fui 4 g8+ e 2 |
IR HYA o A °, A= fGu U faweni § ¥ 98 3 #1999 Hifa

(1) (A) 3 (R) EHI &7 & 3R (R), (A) 1 8t == & |

(2)  (A) 3R (R) gHi & &, wf6A (R), (A) 61 Hél =me 78 8 |

(3 (A)TFE, @ (R) 753 2|

(@) (A) zEca &, wifE (R) 7 21

Options :

92090688681. 1
92090688682. 2
92090688683. 3
92090688684. 4



Question Number : 72 Question Id : 92090622440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement I : A purline variety is a variety which ohtained from many heterozygaus
plants of cross pollinated crop.

Statement I1 : A pureline become genetically variable with time due to mechanical
mixture, natural hybridization and mutation.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement I1 are true
(2} Both Statement I and Statement 11 are false
{3) Statement I 1s true but Statement I 1s false
{4) Statement I is false but Statement II 1s true

Options :

92090688685. 1
92090688686. 2
92090688687. 3
92090688688. 4

Question Number : 72 Question Id : 92090622440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=y feumu # -

FoF ([): TS SR 8T UG $E TN o ELIAETE Uil & HE IeiHyE § 9 fHy
S & |

w9 (1) : UH AR A, FUAEE R, EOE H6 U9 Seiddd & SR
IHAE ®9 | qfEdAsiiel 2 w1 2

YT YA & TS H, Ad G0 70 fGeedl § ® ®@El 39 0 999 i
(1) =94 (I) #r (1) i & 2 |

(2)  FEF (D) AR (D TH A5TE |

(3)  wua (D)= &, e %ad (1) 31593 21

(4)  FuF () 393 2, ¥ w2 (1) FF 2|

Options :
92090688685. 1
92090688686. 2



92090688687. 3
92090688688. 4

Question Number : 73 Question Id : 92090622441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange these soil horizons from top to bottom.

(A) A
(B) As
(C) A
(D)  Ag
(E) Awm

Choose the correct answer from the options given below :

(1) (D). (E). (A), (B), (C) (2) (E), (D), (A), (B), (C)
(3) (E), (D), (C), (B), (A) (4) (A), (B). (C), (D). (E)
Options :

92090688689. 1
92090688690. 2
92090688691. 3
92090688692 4

Question Number : 73 Question Id : 92090622441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U MU ger R W IW F A= H A T wl|

(A)
(B)
(©)
(D)
(E)

A

= feu v foedt § @ w1 I % =99 Fifw

(1)
(3)

(D). (E), (A), (B). (C) (2) (E), (D), (A). (B). (C)
(E), (D), (C), (B), (A) (4) (A, (B). (C), (D), (E)

Options :

92090688689. 1
92090688690. 2
92090688691. 3
92090688692. 4

Question Number : 74 Question Id : 92090622442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange these soil particles as per their size (large to small)

(A)
(B)
(©)
(D)
(E)

Clay

Fine gravel
Sand (course)
Sand (fine)

Silt

(Choose the correct answer from the options given below :

(1)
(3)

(A). (B). (C), (D), (E) (2) (D). (B), (C). (A). (E)
(B), (C), (D), (E), (A) (4) (C), (B), (D), (A), (E)

Options :
92090688693. 1
92090688694. 2



92090688695. 3
92090688696. 4

Question Number : 74 Question Id : 92090622442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

== fau 7Y gE Fo1 F IT6 AR F AN (T8 § BIS) AT |

(A)
(B) e Taw
(€) He (W)
(D) ¥ (9a)
(E) fa=e

+ra feu e faeedl ¥ | 58 I %1 994 i

() (A), (B), (C), (D), (E) (2) (D), (B), (C), (A), (E)
(3 (B, (C), (D), (E), (A) (4) (C), (B). (D). (A). (E)
Options :

92090688693. 1
92090688694. 2
92090688695. 3
92090688696. 4

Question Number : 75 Question Id : 92090622443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrnge these Govt. schemes as per vear of start (old to recent)
(A) Community Development Programme
{(B) Training and Visit Progoramme

(C) Integrated Rural Development Programme
(D) Kisan Credit Card

(E) PM — Kisan Samman Nidhi

Choose the correct answer from the options given helow :

(1) (A), (B), (C), (D), (E) (2) (C), (D), (B), (E), (A)
(3 (B (C), (D), (E), (A) (4) (A), (D), (B), (C), (E)
Options :

92090688697. 1
92090688698. 2
92090688699. 3
92090688700. 4

Question Number : 75 Question Id : 92090622443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e feu T TR FEATE #1396 U B o a9 g SHareyd | (T ® )
(A) FRMET SaciwHe 9EH

(B) Fm we fise dmm

(C) T<iIds wel SHoHe W

(D) TaH wise F1E

(E) t.um. foram s Ay

Fra feu 7o faweqt § 8 w6 3 %1 =94 Shifau .

(1) (A, (B), (C), (D), (E) 2y (C), (D, (B), (E), (A)
(3) (B} (C), (D), (E), (A) (4) (A), (D), (B). (C), (E)
Options :

92090688697. 1
92090688698. 2



92090688699. 3
92090688700. 4

Question Number : 76 Question Id : 92090622444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement [ : Somatic cells of all the organisms divide through mitosis.

Statement 11 : The two daughter nuclei produced by mitotic division are not identical
to the parent nucleus.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement [T are true
{(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement 11 1s false
(4) Statement I 1s false but Statement [T 1s true

Options :

92090688701. 1
92090688702. 2
92090688703. 3
92090688704. 4

Question Number : 76 Question Id : 92090622444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A= < F feg Mo #
wee (1) . |t it i 2fas i = faasm o faasm g a2

wua () : 71g =i & A fGaeE 8@ 30 g8 Sl (T & 9% o6 89) &
auH (Imgefaa) 78 #dt €

IR YA & IS °, A9 Gu T faeedi 4 § |9 39 & =999 Hia

(1) === (I) 3R (1) g41 & £ |

(2)  F (D) #AR (1) gHi 58 2 |

(3) = () Fca B, oifeha Fe (1) 38T B |

(4) FuF (1) 753 &, dfd A (1D TFT B |

Options :
92090688701. 1



92090688702. 2
92090688703. 3
92090688704. 4

Question Number : 77 Question Id : 92090622445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement [ : Bajra is very popular crop in rainfed and drought prone areas.
Statement I1 : Sesamum is primarily a kharif season crop.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement II is false
{4) Statement 1 1s false but Statement 11 1s true

Options :

92090688705. 1
92090688706. 2
92090688707. 3
92090688708. 4

Question Number : 77 Question Id : 92090622445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foa s feumu g .

woF () : =T 1 F& 997 TG U9 9@ &3 2q 959 & wared 2 |
w2 (1) : e geam: @i fem 6l 5o 2|

IUUE YA & 3T J, A= fGu mu fawedt § ® #E 39 @ 994 it
(1) = (D) 3R (D) gl & 2 |

(2)  FE (D) AR (1) eHi 353 £ |

(3)  Fu= () 79 &, wifea e (1) 353 2 |

(4) A (1) A5 &, 9 99 (1) 97 & |

Options :
92090688705. 1
92090688706. 2



92090688707 3
92090688708. 4

Question Number : 78 Question Id : 92090622446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ : Single cross includes two parents to produce the Fi.

Statement 11 : Mango variety Sindhu 18 a hybrid variety.

In the hght of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement [ are false
(3) Statement 1 1s true but Statement 11 is false
(4) Statement 1 1s false but Statement 11 is true

Options :

92090688709. 1
92090688710. 2
92090688711. 3
92090688712. 4

Question Number : 78 Question Id : 92090622446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A< &1 o few T E

F9 (1) : F, 30e &g e %8 0 g1 Tie mine 8 € |
FUA (1) : 319 =i Fa1q Y 7% 51 g 8 |

I Y & TS °, A= feu m fawedi 9 9 w58 39 1 9799 Fifau

(1) == (1) 3R (1) g1 9 2 |

(2)  =wuA (1) 3R (1) 3Hi 39 7 |

(3) = () 53 &, o % (1) 39T 21
(4)  FeF () 5199 2, o 597 (1D FF 21

Options :
92090688709. 1
92090688710. 2



92090688711. 3
92090688712. 4

Question Number : 79 Question Id : 92090622447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ : Potassium plays an important role in the opening of stomata,
maintaining adequate turgor, transportation of photosynthesis and
develop disease resistance in the plants.

Statement [1: K termed as secondary nutrient because of its low requirement by the
plants,

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement I and Statement Il are correct

{(2) Both Statement I and Statement Il are incorrect
(3) Statement | is correct but Statement 11 is incorreet
{4) Statement 1 1s incorrect but Statement I1 is correet

Options :

92090688713. 1
92090688714. 2
92090688715. 3
92090688716. 4

Question Number : 79 Question Id : 92090622447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 A feu T

Fod (1) :  wiefiEm 9] § Wibe EieH, S af [aET, BReiid=ss & Iiaed 3
It § B Fieil SETE & GieRiel g9 $1 FE Tl £ |

wA (1) :  "iew U fEdiEes g & @it 914 ol %H HE1 § 3EvEs Bid 2 |

ITUH HYF e H, A oy 7o fawhedi § 8 98 I9ga I F 997 D90 -

(1) == (1) 3R’ (1) g1 @l £ |

(2)  FEA (1) #:A7 (ID) A Tod 2 |

(3)  HuA (1) wEl 2, =i %o (1) Ted 2 |

(4)  F (1) 7Tea 2, wfe wya (1) 88 2

Options :



92090688713. 1
92090688714. 2
92090688715. 3
92090688716. 4

Question Number : 80 Question Id : 92090622448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : The transpiration, water is loss from aerial parts of plants in the
form of inivisible water vapours.
Statement [1: The gultation, water solution cozes out from uninjured margins of
aerial leaves only.
In the hght of the above Statements, choose the correct answer from the options given

below

(1) Both Statement I and Statement 11 are true
(2) Both Statement I and Statement [ are false
(3) Statement [ 1s true but Statement 11 i= false
(4) Statement 1 is false but Statement 11 is true

Options :

92090688717. 1
92090688718. 2
92090688719. 3
92090688720. 4

Question Number : 80 Question Id : 92090622448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
== & %Y fog e E

FYA (1) :  aredfisor & 999 919 & fafis won g ot & 31599 %o a7 & &9 8 359 8 |
wo (1) . o9 afshan & qaa ot 61 o8 ot (S sfaoe 78 8) & et froa 21

IR FUA F AH °, A= fGu e Twew 9 5 98 I #9979 Hifaw
(1) =wgA (D) AR (1) H § 2 |

(2) == () 3R (D 3IEAFE |

(3) A () 53 2, oifea e (1) 3753 8 |

(4) A (1) 318 2, oifehd &ue (1) 979 2 |

Options :



92090688717. 1
92090688718. 2
92090688719. 3
92090688720. 4

Question Number : 81 Question Id : 92090622449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(riven below are two statements :

Statement 1 : India is the largest producer and exporter of cinnamon in the world.

Statement Il : True cinnamon of commerce is dried inner bark of cinmamomum
UErLm.

In the hight of the above Statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement I1 are false
(3) Statement I is true but Statement I is false
{4) Statement I 1s false but Statement II 1s true

Options :

92090688721. 1
92090688722. 2
92090688723. 3
92090688724. 4

Question Number : 81 Question Id : 92090622449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A < U fer T E :

w4 (1) . Tegmam fava § o=l %1 999 991 30976% U9 fafas 2 |

FYA (II) : SR &g ardfds grerail- /F~T5aa 3 1 A< & §& 91d 3990 2d # |
YR YA = e |, A Gu o Tt § 9 @E I @ 9w Hifaw

(1)  =u (D) 3R (1D gFi o9 |

(2) w9 (1) 3R (1) §H1 5A & |

(3) Fu (D) F3 2, dfe =279 (1) 393 2 |
(4) HYF (1) 393 2, Al Fa9 (1) T3 2 |

Options :



92090688721. 1
92090688722. 2
92090688723. 3
92090688724. 4

Question Number : 82 Question Id : 92090622450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;

Statement [ : Wheat rust is a seed borne disease.

Statement 11 : Loose smut of wheat 18 an internally seed borne disease.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement I1 are true
{2) Both Statement | and Statement 11 are false
(3) Statement I is true but Statement II is false
{4) Statement 1 is false but Statement 11 1s true

Options :

92090688725. 1
92090688726. 2
92090688727. 3
92090688728. 4

Question Number : 82 Question Id : 92090622450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i & %Y for T E

Fu (1) : T8 F T Th &1 a0 8 |
wee (1) : 7% | & JTell @M o B9 U A s Sk 7 2 |

I HA & A °, A= o T fawent § ¥ wE 39 F 997 i
() HwOIARADSA FFIE |

(2) = () A’ (D) EH FEFE |

(3 = () 59 8, 9 w99 (1) 3593 21

(1) = (1) 35 &, ot A (D) T3 2|

Options :
92090688725. 1



92090688726. 2
92090688727. 3
92090688728. 4

Question Number : 83 Question Id : 92090622451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Salinity present in the irrigation water is given in terms of ESRE
value.

Statement I1: The extent of soil salinization and/or sodication depends on the type
and amount of salt, their relative abundance in soil and effect on
soil pH.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement IT are true
{2) Both Statement I and Statement I are false
{3) Statement I is true but Statement I1 is false
(4) Statement 1 is false but Statement I1 1s true

Options :

92090688729. 1
92090688730. 2
92090688731. 3
92090688732. 4

Question Number : 83 Question Id : 92090622451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=i 2 = fer e g

wu (1) : oot ° 39fede efiaar o1 3.0\ 30, & &9 § yafiia i 2 |

wYA (1) : H&1 1 &iFs I HEER g1 % WHR, 396 IUEdd @A, 396 JEl 3R
1T, %y T g

I U % ATARS H, A9 50 M0 fGwed 7§ 5E 39 & 999 i
(1) === (1) A7 (1) EH & £ |

(2) = (D) 37 (1) g 353 2 |

(3) A () 59 &, oife e (1) 353 8|

(4) F¥F (1) 3783 &, e wy (1) TF 2 |

Options :

92090688729. 1
92090688730. 2
92090688731. 3
92090688732. 4

Question Number : 84 Question Id : 92090622452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(7iven below are two statements ;

Statement | : Saline soil contain sufficient soluble salts which adversely affect the
growth of most crop plants. The soluble salts are mainly sodium
chloride and sodium sulphate.

Statement I : Sodic soil having pH>8.5, EC<4.0, SAR>13, ESP>15.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement I1 are false
{(3) Statement I is true but Statement 11 is false
(4) Statement I 1s false but Statement II 15 true

Options :

92090688733. 1
92090688734. 2
92090688735. 3
92090688736. 4

Question Number : 84 Question Id : 92090622452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks :

4 Wrong Marks : 1

I & we g Mo E

FYA () : & ga1 § w9 9 § goesia oEu 9 Sd & S 9iEl % Sgan W gided
T9E Sd & | gouiiel oav JEgq: Hiieay Feiiss Hifead ¥ohe & ® § U
9T E |

FYA (1) : Hifsh 9a1 &1 91.09. 8.5 9 6, 4. 4.0 § F7, W.LAL. 13.0 9 3045
R oA 15.0 § s 2 2|

IHUH HYA & AT H, A U 70 faweui d | |99 39 F 999 Hiia
(1) A (1) 3R (1) g &9 2 |

(20 == () 3R (D) EH FEFE |

(3)  FuA (D) &9 2, ol %97 (1) 3359 2 |

(4) = (1) 39 &, wife &9A (1D 7 2|

Options :

92090688733. 1
92090688734. 2
92090688735. 3
92090688736. 4

Question Number : 85 Question Id : 92090622453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks :

4 Wrong Marks : 1

(Given below are two statements ;

Statement I :

Statement 11 ;

The liquid waste like sewage and sludge can be utilized for production
of crops like sugarcane, vagetables and fodder crops.

The produces obtained by using sewage and sludge are
microbiologically very safe for fresh uncooked consumption.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both Statement 1 and Statement I1 are true
{2) Both Statement | and Statement 11 are false
{(3) Statement I 1s true but Statement 11 1s false
(4)  Statement I is false but Statement 11 is true

Options :

92090688737. 1
92090688738. 2
92090688739. 3



92090688740. 4

Question Number : 85 Question Id : 92090622453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CI AR C A o

e () : FeAd 99N A8 Hiow vd Toet B IUEN 1, Fesll SN SR 3eqmed &g TR
1 HHAT & |

weE (1) : =99 AR =09 % @0 8 37 70 I0E (6 96H) geastal &l giEwm |
@M = B E |

TR HYE & 3o °, = 5 7 fTwe § 7 58 35 &1 999 it

(1) =57 () AR (D SH FF £ |

(2) =y () 30 (1) S+ FEFT € |

(3) = (1) &e" 2, oifeha 9 (1) 353 B |

(4) A (1) 59 8, =i &97 (1) 79 2 |

Options :

92090688737. 1
92090688738. 2
92090688739. 3
92090688740. 4

Question Number : 86 Question Id : 92090622454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Saline s0il having
(A) pH<85
(B) E.C=4
(C) ESP<15

(D)) Physical condition - Flocculated

Choose the correct answer from the options given below :

(1)  (A). (B), (C) only (2) (B), (0, (D) only
(3)  (A), (D), (C) only (4) (A), (B), (C), (D) only

Options :



92090688741. 1
92090688742. 2
92090688743. 3
92090688744. 4

Question Number : 86 Question Id : 92090622454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
et qeraAT | g & |
(A) Hiwg <85
(B) sH.>4.0
(C) smaH. <15.0

(D) sitfas om - s

Fi= feu 7 faeqi § ¥ 98 3 w1 =94 $ifau

(1) =@ (A), (B), (C) (2) Fa (B), (C), (D)
(3)  @aEe (A), (D). (O) (4) (A, (B), (C), (D)
Options :

92090688741. 1
92090688742. 2
92090688743. 3
92090688744. 4

Question Number : 87 Question Id : 92090622455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements ;

(A)
(B)
(©)
(D)
(E)

Naptha is a fraction of petroleum.

Percolution is downward movement of water through soil.

Highly concentrated and widely used nitrogenous fertilizer 1s urea.
Ammonia volatilization highest with urea.

So1l formed from basic rocks are more fertile.

Choose the correct answer from the options given helow :

(1)
(3)

(B), (C), (D) only (2) (A). (B), (C)(D), (E)
(A), (D), (E) only (4) (B), (C). (D), (E) only

Options :

92090688745. 1
92090688746. 2
92090688747. 3
92090688748. 4

Question Number : 87 Question Id : 92090622455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE T FHO

(A) e Sgiferam =1 U A9 9 8 |

(B)  9THIcisH gal H 9l % 39§ A= 714 H1 9 2 |

(C) rafus Trg 3R T 9am o 37 9T 999 90 g 2 |
(D) I & I 1 A FEia i g |

(E) wfaes tom & ffida fafgat sfvs e 6 2

Frer feu o fommedi § § @E 3 1 =94 Sifau

(1)
(3)

%9 (B), (). (D) (2) (A), (B), (O). (D), (E)
Fad (A), (D), (E) (4) ad (B), (C), (D), (E)

Options :
92090688745. 1



92090688746. 2
92090688747. 3
92090688748. 4

Question Number : 88 Question Id : 92090622456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Legume crops includes
(A) Pigeon pea

(B) Greengram

(C) Lentil

(D) Horsegram

(E) Rapeseed

Choose the correct answer from the options given below :

(1) (A). (B), (C), (D) only (2) (A), (B), (C). (E) only
(3)  (E), (D), (C), (A) only (4) (C), (D), (E) only
Options :

92090688749. 1
92090688750. 2
92090688751. 3
92090688752. 4

Question Number : 88 Question Id : 92090622456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FE- Tl | IHA B
(A) I
B)

(C) =8
Dy =

s

(Ey ==l

Fi feu mu famwedt ¥ 9 w8 3 =1 =59 Sifau .

(1) Ed (A), (B), (), (D) (2) == (A), (B), (0), (E)
(3) @ (E), (D), (C). (A) (4) e (C), (D), (E)
Options :

92090688749. 1
92090688750. 2
92090688751. 3
92090688752. 4

Question Number : 89 Question Id : 92090622457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Forage crops includes
{(A) Sorghum

(B) Elephant grass
(C) Guinea grass
(I  Berseem

(E) Cassava

Choose the correct answer from the options given below -

(1) (A). (B), (C), (D), (E) (Z)  (A), (B). (C), (D) only
(3)  (A), (B). (C), (E) only (4) (A), (B), (D), (E) only
Options :

92090688753. 1



92090688754. 2
92090688755. 3
92090688756. 4

Question Number : 89 Question Id : 92090622457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=R STl BHel J e 8
(A) =raa
(B) =it w
(Cy T T
(D) =EH

(E) wEmEn

Fi= feu 7o fawedl § © 9E I F1 9949 FifA0

(1) (A (B), (C), (D), (E) (2) =ad (A), (B), (C), (D)
(3) A (A), (B). (C). (E) (4) = (A), (B), (D), (E)
Options :

92090688753. 1
92090688754. 2
92090688755. 3
92090688756. 4

Question Number : 90 Question Id : 92090622458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct statements.

(A) Cauliflower and cabbage are indicator plant of Fe and Ca.
(B) Sugarbeet is the indicator plant of Mn.

(Cy Maize is the indicator plant of P.

(D)  Rice is the indicator plant of K.

(E) Wheat is the indicator plant of B.

Choose the correct answer from the options given below :

(1) (A, (B), (C), (D), (E) (2) (A), (B), (C). (D) only
(3)  (A), (B), (C) only (4) (A), (B). (D). (E) only
Options :

92090688757. 1
92090688758. 2
92090688759. 3
92090688760. 4

Question Number : 90 Question Id : 92090622458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HE YA F TIE Bl
(A) Fe 3R Ca & Geril 3 Gwmiid U s-<het/dehas 114 2 |
(B) 9wt Mn % Gehas dia 2 |
(C) =wn1 P 3 Hehds 11491 2 |
(D) 9F K & Hhas 9491 £ |
(E) € B & Hehe i 2 |

Fi= feu U faeeqi § 9 w8 I 1 == Sifeu

(1) (A, (B), (O), (D), (E) (2) = (A), (B), (C). (D)
(3) %= (A), (B), (O) (4) == (A), (B). (D), (E)
Options :

92090688757. 1
92090688758. 2



92090688759. 3
92090688760. 4

Question Number : 91 Question Id : 92090622459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
High salt tolerant crops are
{A) Dhaincha
(B) Sugarbeat
{C) Cotton
(D) Barley

Choose the most appropriate answer from the options given below :

(1) (A), (B), (C), (D) (2) (A}, (B). (C) only
(3 (A), (B), (D) only (4) (A), (C), (D) only
Options :

92090688761. 1
92090688762. 2
92090688763. 3
92090688764. 4

Question Number : 91 Question Id : 92090622459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Feu Y] HEAYIE HEel 8
(Ay &=

(B) FFL

(C) I

D) =it

Fi= feu mu famedl § © w1 39 =1 =99 Sifau .

(1) (A, (B), (C), (D) (2) =aa (A), (B), (C)
(3) = (A), (B). (D) (4) == (A), (C), (D)



Options :

92090688761. 1
92090688762. 2
92090688763. 3
92090688764. 4

Question Number : 92 Question Id : 92090622460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

People's participation in an extension programme considered significant when
(A) Local leaders participate

(By Laiterate section of villagers participate

(C) Gram panchayat members participate

(D)  Majority of villagers participate

Choose the most appropriate answer from the options given below :

(1) (A (B), (C) only (2) (A, (B), (C). (D)
(3) (A)., (C), (D) only (4) (A), (B), (D) only
Options :

92090688765. 1
92090688766. 2
92090688767. 3
92090688768. 4

Question Number : 92 Question Id : 92090622460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT & AR % IR T FHR F HEH Thel 911 A & 99
(A) TE & FAFEEY 9 #1

(B) =g = forfera =t wfierd =+t

(C) ™ 9= Heed "RiigH =

(D) i = A S fr arfer

= feu 7w fasedi § § 589 3999 I ) 949 I

(1) =HaF (A), (B), (O) (2) (A). (B), (C), (D)
(3)  %a= (A), (0), (D) (1) %3 (A), (B), (D)
Options :

92090688765. 1
92090688766. 2
92090688767 3
92090688768. 4

Question Number : 93 Question Id : 92090622461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The rationale for establishment of ATIC 1s
(A) Tosupply research products,
(B) To provide diagnostic services for soil. water, meat and livestock.

(C) To provide an opportunity to the institutes to generate resources through the
sale.

(I}  To monitor socio-economic impact of technological intervention for different
production systems.

Choose the most appropriate answer from the options given below :

(1) (A, (B). (D) only (2) (A), (B). (C) only
(3)  (B).(C), (D) only (4) (A, (B}, (C). (D)
Options :

92090688769. 1
92090688770. 2
92090688771. 3



92090688772. 4

Question Number : 93 Question Id : 92090622461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w.dt.ams. =, it wamar fefafas § q=tEm 2

(A) g % 3Ieqrg Il Bd

(B) @1, 9, WY 3R 99 Sl STER SE T |

(C) T¥4H Fl 39 30918 [Fha F IAH] FEAHA TEH F 0L FGH A |
(D) Tafy= 3tares ol 1 gETES,/ A= 999 & 80

e feu o fasredi O § He9 I9gE I & =994 HifaT

(1) ad (A), (B). (D) (2) &= (A), (B), (O)
(3)  &a= (B), (), (D) (4) (A, (B), (), (D)
Options :

92090688769. 1
92090688770. 2
92090688771. 3
92090688772. 4

Question Number : 94 Question Id : 92090622462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List [ with List 11 :

List 1 List I1
{A) World Soil Day (D 22 April
(B) World Environment Day (I) 22 March
(C) World Water Day (ITI) 5 June
(D) World Earth Day (IV) 5 December

Choose the correct answer from the options given bhelow:

(1) (A)-(I). (B)-(II), (C)-(1IT). (D)-(IV)
(2)  (A)-(IV). (B)-(IIT), (C)-(IL). (D)-(T)
(3) (A1), (B)-(IID), (C)-(IV), (D)-(D)
(1) (A1), (B)-(I1), (C)-(D), (D)-(AV)

Options :

92090688773. 1
92090688774. 2
92090688775. 3
92090688776. 4

Question Number : 94 Question Id : 92090622462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 |y gt 11 1 e Fifa |

il o 11
(A) favg 71 faam I 2238
(B) fawa ammw feam (IT) 22 =
(C) Tova 511 fgad (I1D) 5
(D) foa gt feme (IV) 5 fewmar

Fe feu T fawest ¥ 9 w8 39 1 999 e

(1) (A)-(D), (B)-(ID), (C)-(I1D), (D)-(IV)

(2)  (A)-AV), (B)-(I1I), (C)-(D), (D)-(D

(3)  (M)-(ID, (B)-(1D), (C)-AV), (D)-(I)

(1) (A, (B)-(II), (C)-(I), (D)-(IV)
Options :

92090688773. 1
92090688774. 2



92090688775. 3
92090688776. 4

Question Number : 95 Question Id : 92090622463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match Last I with List 11 ;

List 1 List IT
{(A) Halophytes () Plants prefer saline condition
(B) Lithophytes {II) Plant grows on rock surface
(C) Xerophytes {III) Plant grow under desert condition
(D) Hydrophytes (IV) Water loving plants

Choose the correct answer from the options given below:

(1) (A, (B)-(ID), (C)-(11T), (D)-(IV)
(2)  (A)(IV). (B)-(IIT), (C)-(1T). (D)-(I)
(3) (A)-(11). (B)-(11D), (C)-(IV), (D)-(D)
(4) (A)-(TIT), (B)-(TV). (C)-(IT), (D)-(T)

Options :

92090688777. 1
92090688778. 2
92090688779. 3
92090688780. 4

Question Number : 95 Question Id : 92090622463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt [ =g g4t 11 &1 e ife |

g1 = 11
(A) FATFIZZE () U Y S A SEE THe 4 8 |
(B) A= (IT) ©H 99 = T2 i Heg W 3774 2 |
(C) HIEREHA (L) & °rg =i s § 37 2|
(D) ETESEEHE (IV) T8 9 et == s7foss B 21
feu mu fawedi O § O 39 =1 954 S

(1) (A)-(I), (B)-(ID), (C)-(I1D), (D)«(IV)
(2)  (A)-AV). (B)-(I), (O)-aL), (D)-(D
@) (A)-1D, (B)-(1D), (C)-(IV), (D)-()
(4)  (A)-(ID), (B)-(IV), (C)-(D), (D-(I)

Options :

92090688777. 1
92090688778. 2
92090688779. 3
92090688780. 4

Question Number : 96 Question Id : 92090622464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech Last [ with Last IT :

List I List I1

(A) Indian Council of Agricultural (I} New Delhi
Research (ICAR)

(B) National Dairy Research Institute (II) Karnal
(NDRI)

(C) Indian Veterinary Research (III) Izatnagar
Institute (IVRI)

(1)) Indian Institute of Vegetable (IV)y Varanasi

Research (1IVR)

Choose the correct answer from the options given below:

(1) (AL, (B)-(IID), (C)-(I), (D)-(IV)
(2)  (A)(D), (B)-(I1), (C)-(I11), (D)-(IV)
(3)  (A)-(IV), (B)-(III), (C)-(II), (I)-(I)
(4)  (A)-(ID), (B)-(IV). (C)-(111), (D)-(T)

Options :

92090688781. 1
92090688782. 2
92090688783. 3
92090688784. 4

Question Number : 96 Question Id : 92090622464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1% =1 =t 11 = e it

Tt 1

(A) 9 FH AFEaH THEg (7.5 .0.)

(B) 9NAE 9 IFEYH T2 (TH.51.31.3718)

(C) amdE 93 i AE9H 929
(3. <ff. 37 3. )

(D) AT Hesll FATHIH TEIH
(3m8, 3mms <t 3. )

feu mu fasreal O 4 9 I &1 999 Hifa

T 11
1@ = feg

(1) FE=TA
(I11) 3551

(IV) FR=E!

(1)
(2)
(3)
(4)

(A)-(ID), (B)-(I11), (C)-(D), (D)-AV)
(A)-(), (B)-(11), (C)-(I1I), (D)-(IV)
(A)-(IV). (B)-(11I), (C)-(1I), (D)-(I)
(A)-(ID), (B)-(IV), (C)-(I1L), (D)-(D)

Options :

92090688781. 1
92090688782. 2
92090688783. 3
92090688784. 4

Question Number : 97 Question Id : 92090622465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1:

List 1 List 11
(A) Green Hevolution () Horticulture
(B) White Revolution (I} Ml seed
(C) Golden Revolution {III) Food grain
(D} Yellow Revolution (IV) Milk

Choose the correct answer from the options given below:

(1) (A)(I), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-V). (B)-(D). (C)-(1D), (D)-(1IT)
(3) (A, (B)-(ID), (C)-(I1T), (D)-(IV)
(4)  (A)-(1D), (B)-(IT), (C)-(IV), (D)-(T)

Options :



92090688785. 1
92090688786. 2
92090688787. 3
92090688788. 4

Question Number : 97 Question Id : 92090622465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1% =g gt 11 =1 faem $ifaw |

T 1 g+ 11
(A) =i sif () Fenfaehr
(B) vad It (1) foers=
(C) HFall s (1) @ =7+
(D) e st (IV) g9
feu o famwedl O 4 w39 =1 997 Fifaw

(1) (A)-(I), (B)-(IV), (C)-(D). (D)-(1I)
(2)  (A)-AV), (B)-(I), (O)-(ID), (D)-(IID)
(3) (A, (B)-(ID). (C)-(I1D), (D)-(IV)
(4)  (A)-(IID), (B)-(I1), (C)-(IV), (D)-(I)

Options :

92090688785. 1
92090688786. 2
92090688787. 3
92090688788. 4

Question Number : 98 Question Id : 92090622466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List I with List I1:

List I List 11

(A) Fertilizer contains only single (I Mixed fertilizers
primary nutrient

(B} Fertilizer contaiming two or more (I) Straight fertilizer
nutrients

(C) Physical mixture of two or more (11I) Complex fertilizer
fertilizers

(D) Fertilizer containing living cells (IV) Bio-fertilizer

Choose the correct answer from the options given below:

(1)  (A)-(D), (B)-(I11), (C)-(T), (D)-{IV)
(2)  (A)-(I1D). (B)-(IT), (C)-(T), (D)-(IV)
(3)  (A(IV), (B)-(IT), (C}-(I1T), (D)-(T)
(4)  (A)-(IID), (B)-(IV), (C)-(1T), (D)-(I)

Options :

92090688789. 1
92090688790. 2
92090688791. 3
92090688792. 4

Question Number : 98 Question Id : 92090622466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 |19 g= 11 %7 foems Hifae |

il = 11
(A) IEtR ST Fae v grAiie e () Tufym s
Tl Eid |
(B) UH Fath &1 € 91 & & Aus gue ([) & 9=
cd 9 Tt Bid 8 |
(C) 2 71 8 9 wigw a9 & difas (1) Jfea (Freem) 33
oy 9 39

(D) hfea =ifa g 39w (IV) STt
feu 7u fa=edi # 9 HE 3T &1 =9I S0

(1) (A)-(ID, (B)-(IL), (C)-(D), (D)-(IV)
(2) (AL, (B)-(ID), (C)-(D), (D)-(IV)
(3)  (A)-IV), (B)-(ID), (C)-(111), (D)-(I)
(4)  (A)-(IID), (B)-(IV), (C)-(11), (D)-(1)

Options :

92090688789. 1
92090688790. 2
92090688791. 3
92090688792. 4

Question Number : 99 Question Id : 92090622467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 ;

List I Last 11
(A) Nitrogen fixation carried out by (I} Nitrogenase
enzyme
(B) Conversion of organic N to NH; (II} Ammonification
(C) Phosphate mobolizer (IIT) VAM
(D)} Phosphate solubilizer (IV) Pseudomonas

Choose the correct answer from the options given below:

(1) (A)-(I1L), (B)-(I1), (C)«(T), (D)-(IV)
(2)  (A)-D. (B)-(IT). (C)-(I1T), (D)-(IV)
(3)  (A)(ID), (B)-(IV), (C)-(I11), (D)-(I)
(4)  (A)-(IID), (B)-(1I), (C)-(IV), (IN-(T)

Options :

92090688793. 1
92090688794. 2
92090688795. 3
92090688796. 4

Question Number : 99 Question Id : 92090622467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1% 71 5=t 11 1 e $ifag |
g1 = 11
(A) a9 Teeees () s=mem & (D) —seifams
g EA B
(B) #fas N & NH, ¥ agem (IT) FEFITHHIE
(C) FIEhReHITEET (111) <t.u.um.
(D) HEHE HTITATEH (IV) GEHATE
feu v faedl § @ wE I =1 999 Hifen

(1) (A)-(III), (B)-(IL), (C)~(I). (D)-(IV)
(2)  (A)-(D, (B)-(II), (C)-(I1D), (D)-(TV)
(3)  (A)-ID), (B)-(IV), (C)-(11I), (D)-(T)
(4)  (A)-(ITD), (B)~(IT), (C)-(IV), (D)-(I)



Options :

92090688793. 1
92090688794. 2
92090688795. 3
92090688796. 4

Question Number : 100 Question Id : 92090622468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Last I wath List I1 :

List I List 11
(A) Mallformation (I) Opium poppy
(B) Seedless (II) Sweet orange
(C) Lancing (III) Mango
(I¥ Granulation (IV) Banana

Choose the correct answer from the options given helow:

(1)  (A)(IL), (B)-(IV), (C)-(I), (D)-(1I)
(2)  (A)IV), (B)-(II), (C)-(I1I). (D)~I)
3) (A, (B)-(II), (C)-(IIL). (D)-(IV)
(4) (A1), (B)-(D), (C)-(I1), (D)-(IV)

Options :

92090688797. 1
92090688798. 2
92090688799. 3
92090688800. 4

Question Number : 100 Question Id : 92090622468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-), (B)-(IV), (C)-(D), (D)-(1T)
(2 (A)-aV), (B)-a1), (C)-1D), (D)-(I)
@ W), B)-II), (C)-(I1I), D)-IV)
(@) (A)-(aID), (B)-(D), (O)-(ID), (D)-(IV)

Options :

92090688797. 1
92090688798. 2
92090688799. 3
92090688800. 4



